24 .961 stress-4

We have seen that stress is sensitive to the weight of syllables, distinguishing two, three,
and sometimes even more (Piraha) degrees of stressability. Here we look at various cases
where stressability depends on the phonemes comprising the syllable.

1. some minor precedents:
avoid stressing schwa: recall the rhythm rule and maréon swe”ater.
In Polish main stress is penultimate; there are some 14 lexical items with
antepenultimate stress: uniwérsytet, republik, republik-a; most have penult [i]

2. Kenstowicz '97:

e Kobon: i i u
e a) 0
a

stress in disyllabic window at right edge; seeks out stronger vowel on the following
prominence scale:

a,e,0,i,u >, + (peripheral vs. central)
a >e,o0 >i,u> > i (height, sonority)

* Chukchi: stress in disyllabic window at right edge of base;

qora -no qora- t reindeer
ricit ricit -ti belt
melotd- Igon milute- t rabbit

Align-Base-R >> Nonfinality >> Head-R
wéni-wen bell
kéli-kel paper
nuté-nut land
piné-pip snowfall

*P/i,u >> Head-R

schwa: retract stress from final schwa unless penult is schwa, in which case do not retract

patgorg-on hole
tatlon-ok to answer
pipigalg-an mouse



Nonfinality
otla
lalé-t
panun
dtloq
dttom
kétpot
analysis :
fatla / *Pla
‘ss *|
S’s
/ aotlog/
‘ss
s’s *
/nute-t/
‘ss
s’s

macdkw-an
rokgdt-ok
romat-ak

*Pla >> *Pli,u

shirt
to get stuck
to wash up

mother
eyes
middle

tundra
bone
sable

*PJ >> Nonfin >> *P/i,u

Nonfin

*|

*|

Homework: Nanti is a Kampa language of Peru related to Asheninca (Crowhurst 2002).
Provide an OT analysis of its stress contours. The data are slightly simplified in that we
do not consider words with long vowels.

Rank the foot parsing constraints to generate the alternating stress contours in (1).

(1)
pogi ‘you do’
nami ‘I give’
yari ‘he flies’

ogotero ‘she will know it’



nonéhero
ipiriniti
iripirinite
okowogotero
nosaksero
agabejaksena
ofapitdksero
isékatakaro
nokatsigaksero

‘I will see it’
‘he sits’
‘he will sit’
‘she harvests it’
‘| poured it’
‘it overwhelmed me’
‘it stopped it up’
‘he ate it’
‘I bent it’

Suggest how the data in (2) can be accounted for.

(2)

napdgigopiréjakse

nokogakotaro
sagute

januti
atsitokaksero
nabigitaksero
nogibotaksero
nofipokaksero

noginorijaksero

‘| rested’

‘I request it’

‘splash it’
‘he walked’

‘it crushed it’

‘| pick it out of bag’

‘| placed it (vessel) mouth down’
‘| doused it (a fire)’

‘I laid it down’

The data in (3) require another constraint.

3)

nobetaksero
oreboMitiro
notujaksero
notugeakeri
notujero

‘I held on to it’
‘it is wetted by rain’

‘I knocked it over’

‘| blew tobacco powder into his nose’
‘I will knock it over’



